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us 1

Haus 2

Haus 3

Haus 4

Haus 5

EG

DG

EG
EG

DG

EG
EG

DG
DG

EG

DG

. 0G
. 0G
IT.
IT.

0G
0G

. 0G
. 0G
IT.

0G

. 0G
. 0G
II.
II.

0G
0G

[.0G
[.0G~

II.
II.

DG

DG
DG

0G
0G

. 0G
. 0G
. 0G
IT.
II.
II.

0G
0G
0G

ZUSAMMENS, .. LUNG DER WOHNFLACHEN

Wohnung
Wohnung
Wohnung
Wohnung
Wohnung
Wohnung

Wohnung
Wohnung
Wohnung
Wohnung
Wohnung
Wohnung
Wohnung
Wohnung

Wohnung
Wohnung
Wohnung
Wohnung
Wohnung
Wohnung
Wohnung
Wohnung

Wohnung
Wohnung
Wohnung
Wohnung
Wohnung
Wohnung

Wohnung
Wohnung
Wohnung
Wohnung
Wohnung
Wohnung
Wohnung
Wohnung

101
102
103
104
105
106

201
202
203
204
205
206
207
208

301
302
303
304
305
306
307
308

401
402
403
404
405
406

504
505
506
507
508
509
510
511

[acEaSEASRA NN S, W W WWWww —_— W W W W W W NN RN PN

oW WO N

1/2
1/2
1/2

1/2
1/2
1/2

1/2

Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung

Haus 1 insgesamt

Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung

Haus 2 insgesamt

Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung

Haus 3 insgesamt

Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung

Haus 4 insgesamt

7immerwohnung
< immerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung
Zimmerwohnung

Haus 5 insgesamt

61,84
48,49
61,84
48,49
61,84
61,27

78,42
81,35
18,42
81,35
78,42
81,35
53,45
56 ,N1

81,35
78,42
81,35
78,42
81,35
78,42
56,01
53,45

343,77 m?

588 ,77m?

57 35
57 36
55,87
57,36
55,87
68,8

588,7 7m?

70,85
61,96
87,60
70,85
61,96
87,60
74,76
71,47

352,80

Wohnfldche insgesamt

587,05 m?

2 461,16



